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Questions

How many current member of Senate are from Democratic Party?

Romney won 48.1 percent of votes and Obama?

Obama was successful in getting around more popular votes than the competitor, Mitt
Romney out of the eight million votes casted during the Presidential Elections.

The elections were conducted on 6th November 2012 and this was the quadrennial
presidential election for the United States.

Barack Obama, the leader of Democratic Party won the U.S Presidential Elections 2012, and
got votes as compared to the 206 votes of Mitt Romney of all the votes declared by
the Electoral College declared.

Obama defeated the Republican Challenger, Mitt Romney in the U.S Presidential Elections
2012

Mitt Romney was candidate of US presidential elections of 2012. He belonged to

Barack Obama, the leader of Democratic Party was re-elected as the President USA on

On 17 May 2010 Iran, Turkey and issued a joint declaration "in which Iran agreed to
send low-enriched uranium to Turkey in return for enriched fuel for a research reactor."

Iran said that the IR-40 heavy water-moderated research reactor at Arak was expected begin
to operate in the first quarter of

Answers Choice

A. 53 Members
B. 51 Members
C. 49 Members
D. 45 Members

A. 60 percent
B. 40 percent
C. 50 percent
D. 51 percent

A. 24000 popular votes
B. 54000 popular votes
C. 74000 popular votes
D. 94000 popular votes

A. 55th Quadrennial presidential
election
B. 56th Quadrennial Presidential
election
C. 57th quadrennial presidential
election

A. 312 votes
. 322 votes
. 332 votes
. 342 votes

. Mitt Romney
John Adams
. Romney Adams
. Mitt Presidential

. Republican Party
. Liberal Party

. Democratic Party
None of these

4 November 2012
5 November 2012
6 November 2012
7 November 2012

Russia
France
China
. Brazl
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